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Find the Fourier series representation of the function

fw):{z XS0 e 2my = £()

O<x<nm

WA= (20 )

Find the Laplace transform solution of the following system.

2 =3y +2y =0
{ e . x(0)=0, y(0)=0
x'+y' =t

HABZ (20 %)
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A= 0 1 1|, compute A"
306

BAgw 1 (20 )
Differential equation xy'—3y= 2%,

(a) Show that the differential equation is not exact (6%), (b) find an integrating
factor (7%), (c) find the general solution (7%).

WAE (20 %)
Let@(x,»,2)=x"y+xz, P, =(1,2,-1) and 4=27 -2j +k. Find the directional
derivation of @(x,¥,z) at £, inthe direction of A -
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